AMXE Y F]
(XRIPhREFCODAIESHT7OY T1T)

rd T

T
|
|
|
|
1

D
A

C B
J—XSK-4 KT+ SCM435
[ FSilinmrd
#4004 No. A B c D F 27V 27 (k)

Min/Max

0.9
SP — 3H M3 X 0.5 10.0 15 1.0 (2 0.05/0.3

SP —[]H 0.9
o h SP —4H M4 X 0.7 12,0 2.0 16 (29 0.21.0
(EHEH) SP — 5H M5 X 0.8 20.0 3.0 2.0 15 0.4/2.0
SP — 6H M6 X 1.0 25.0 3.0 25 2.0 0.8/3.0
SP — 8H M8 X 1.25 25.0 4.0 31 25 0.8/3.0
SP — 10H M10 X 1.5 30.0 5.0 38 3.0 1.0/5.0
SP — 12H M12 X 1.75 30.0 5.0 55 4.0 1.0/5.0
SP — 5LS M5 X 0.8 13.0 3.0 2.0 15 0.2/0.8
sp—LILs SP— 5L M5 X 0.8 20.0 3.0 2.0 15 0.2/1.0
sp—OL SP — 6L M6 X 1.0 25.0 3.0 25 2.0 0.31.0
SIWS— =X SP— 8L M8 X 1.25 25.0 4.0 3.1 25 0.3/1.0
(EHER) SP — 10L M10 X 1.5 30.0 50 38 3.0 0315
SP—12L M12 X 1.75 30.0 5.0 55 4.0 0.21.0

Order

=374 % SP — 5H
g Delivery 2 BE®E

HH (it 2 BEFX)

369



